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 Do as Directed- 

1. Fill in the blanks with suitable abstract nouns formed from the words in 

brackets- 

a) We should always speak the …… (true)                     ( ½×4=2) 

b) The audience burst in the peels of …. (laugh) 

c)Treat animals with …… (kind) 

d) Sports are a better way of killing …… (bore) as compared to the television. 

2. Fill in the blanks with suitable collective nouns –      ( ½×4=2) 

a) A …. of hockey players are standing in the stadium. 

b) He bought a new…… of playing cards. 

c) A …… of birds made hue and cry. 

d) In the forest I saw a ……. of lions. 

3. Fill in the blanks with suitable personal pronouns – 

a) Take this pencil and give…. to Sheena. ( them/it)                      ( ½×2=1) 

b) Dad says…… will come to my school tomorrow. (I/he) 

4) Fill in the blanks with suitable possessive pronouns-                 (½×2=1) 

a) Sophie has done her homework. Has Kareena done? (theirs/ hers) 

b) If you bring your bats, we will bring……(mine/ ours). 

5. Fill in the blanks with suitable reflexive pronouns-   (½×2=1) 

a) She is…... to blame for her failure. 

b) They are grown up. They can take care of …….. 

LITERATURE 

1. Read the stanza and answer the following questions-(½×3=1.5) 



He wore a question mark for tail, 

An overcoat of gray, 

He sat up straight to eat a nut. 

a) Why does the poet say the squirrel “wore a question mark for tail?” 

b) Write antonym of ‘bend’ from the above given extract. 

c)Write past and past participle of the verb ‘wear’. 

 

2.Answer the following questions-( 5) 

1. What are the three questions and why did the king want to know the 

answers to three questions?    (3) 

2.The king forgave the bearded man. What did he do to show his 

forgiveness?  (2) 

3. “If you had not pitied my weakness yesterday and had not dug these beds      

for me, you would have gone away.” 

a) Who said these words and to whom?                                                      

b) Write abstract Noun form of the antonym of ‘weakness’. 

c) Write the phrasal verb from the given extract.                             (½×3=1.5) 

 


